Unit 4 Potential Divider

The current in the resistors in series in a po-
tential divider chain is given by the input volt-
age divided by the sum of the resistors in the
chain.

The output voltage is given by this current
times the resistor across the output.
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Figure 4.1:— Potential divider




Unit 4 Potential Divider

Example 1
Calculate the output voltage from the poten-
tial divider in Figure 4.2.

470 Q

—_— 6V VOut
560 Q
Figure 4.2:—
Current — oV
4702 + 5602
. 6
1030
= 5b.82mA

5.82mA x 56012
3.20V

Output Voltage




Unit 4 Potential Divider

Example 2

Calculate the output voltage when the po-
tentiometer is set at 0%, 12%, 50%, 75%,
90%, 100% of its range.
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R
The % of range = 2 x 100
Ry + R»>
Therefore V,,y = 0.00 x 15V
= 0.0V for 0 % setting
Vour = 0.12 x 15V

1.8V for 12 % setting




